@ F A=A
B = AATHA]
T

G

il



N o)
o) 0_1_
MV—.M_M ,._.Zo
ClCE
o X
m K
B
z U
“W jans
ma o
M
or M
ojp ofn
!

2.

olp

R

wn
wn
25
@)
@)
25|
<
©

i1

)

op

p:

T

@ ADEC(AA

)

olp

o

® ACDE(SSSH
(
® ADEC(SAS

olp

R

T

SSS

@ ADEC



3. Tt 1904 /A — /BDE 2 uf, CD | Zo] S Fatolet.

Ct
 E: cm






b YT L T G A7RA e F 84 ke AL
E
A
B D F

@O AACD oo AEGH

@ ABCD o AFGH
® /ABC = /EFG @ AB:EF=CD:GH
(® AABD = AEFH



& J2ofA AB = 9cm , BC = 6cm , AC = 12cm , BD = 4cm ¥
o, CD ¢] Zo]=?

@D 4em @ 5em ® 6em @ Tem 3 8cm



ohe 283 Zo] /B = 90°¢ AABCOA ACLBD ¥ ™, AABC 9]
7

Yt 2
Holg otu?

@ 20cm? @ 21cm? @ 22cm?

@ 23cm? B 24cm?



A7+ ABC 9] ZAH A7 HBC 19 FE o L =5

o2 182 Z42
H& ZAo|t}y. AF = 7cm, BE = 4cm, AC = 12cm € ©], BD ¢ AD
o] Zdo]e] 2
A
R~
AR
// \\\ \\
, 7CI{1‘\\ 12\cm
\\ \F \\
\
1
|
B C
4em’E
4 32
@ 12cm @ Fom ® —em
28
@ —cm ® 0Ocm



9.

t}& 1904 BC //DE € w, AADE ¢] 89| Zo]=?




10. ©Hg Y3 22 42Hgol AC=5 BC=3, CD=7 % 1, x|
W& Fotodt,




